CHAPTER 17 ALTERNATE PROBLEMS

Problem 17.1A

Job Order Costing Computations and Journal Entries
Nanik Boat, Inc. uses job order costing.  Manufacturing overhead is charged to individual jobs through the use of a predetermined overhead rate based on direct labor costs.  The following information appears in the company’s Work in Progress Inventory controlling account for the month August.


Debits to account:



Balance, August 1

$   8,000



Direct materials

14,000



Direct labor

10,000



Manufacturing overhead (applied to jobs as 200%




of direct labor cost)

  20,000



Total debits to account

$52,000


Credits to account:



Transferred to Finished Goods Inventory account

  40,000


Balanced, August 31

$ 12,000
Instructions

a. Assuming that the direct labor charged to the jobs still in process at August 31 amounts to $3,200, compute the amount of manufacturing overhead and the amount of direct materials that have been charged to these jobs as of August 31.

b. Prepare general journal entries to summarize:

1. The manufacturing costs (direct materials, direct labor, and overhead) charged to production during August.

2. The transfer of production completed during August to the Finished Goods Inventory account.

3. The cash sale of 85% of the merchandise completed during August at a total sales price of $50,000.  Show the related cost of goods sold in a separate journal entry.

Problem 17.2A

Job Order Costing: Journal Entries and Cost Flows

The following information relates to the manufacturing operations of Dello Mfg. Co. during the month of April.  The company uses job order costing.

a. Purchases of direct materials during the month amount of $72,000.  (All purchases were made on account.)

b. Materials requisitions issued by the Production Department during the month total $68,300.

c. Time cards of direct workers show 1,800 hours worked on various jobs during the month, for a total direct labor cost of $35,000.

d. Direct workers were paid $33,000 in April.

e. Actual overhead costs for the month amount to $41,000 (for simplicity, you may credit Accounts Payable).

f. Overhead is applied to jobs at a rate of $22 per direct labor hour.

g. Jobs with total accumulated costs of $97,000 were completed during the month.

h. During April, units costing $80,000 were sold for $170,000.  (All sales were made on account.)

Instructions

Prepare general journal entries to summarize each of these transactions in the company’s general ledger accounts.

Problem 17.3A

Job Order Costing: A Comprehensive Problem

Kansas Plains, Inc., manufactures heavy equipment to customers’ specifications and uses job order costing.  A predetermined overhead rate is used in applying manufacturing overhead to individual jobs.  In Department One, overhead is applied on the basis of machine-hours, and in Department Two, on the basis of direct labor hours.  At the beginning of the current year, management made the following budget estimates to assist in determining the overhead application rate.


Department
Department


One
Two


Direct labor cost

$420,000
$308,000


Direct labor hours

30,000
20,000


Manufacturing overhead

630,000
500,000


Machine-hours

10,000
5,000

Production of a batch of custom furniture ordered by Blan, Inc. (job no. 41) was started early in the year and completed two weeks later on January 19).  The records for this job show the following cost information:


Department
Department


One
Two


Job order for Blan, Inc. (job no. 41):


Direct materials cost

$  8,300
$5,000


Direct labor cost

12,000
9,000


Direct labor hours

800
400


Machine-hours

600
300

Selected additional information for January is as follows:


Department
Department


One
Two


Direct labor hours – month of January

$  2,000
$1,800


Machine-hours – month of January

1,500
1,000


Manufacturing overhead incurred in January

96,000
40,000

Instructions

a. Compute the predetermined overhead rate for each department.

b. What is the total cost of the equipment produced for Blan, Inc.

c. Prepare the entries required to record the sale (on account) of the equipment to Blan, Inc.  The sales price of the order was $150,000.

d. Determine the over- or underapplied overhead for each department at the end of January.

Problem 17.4A

Job Order Costing: A Comprehensive Problem

Dot, Inc. uses job order costing and applies manufacturing overhead to individual jobs by using predetermined overhead rates.  In Department A, overhead is applied on the basis of machine hours, and in Department B, on the basis of direct labor hours.  At the beginning of the current year, management made the following budget estimates as a step toward determining the overhead application rates:


Department
Department


A
B


Direct labor

$500,000
$360,000


Manufacturing overhead

600,000
432,000


Machine-hours

20,000
1,000


Direct labor hours

30,000
21,600

Production of 2,000 tachometers (job no. XL), was started in the middle of January and completed two weeks later.  The cost records for this job show the following information:


Department
Department


A
B


Job no. XL (2,000 units of product):


Cost of materials used on job

$7,200
$5,200


Direct labor cost

5,000
6,666


Direct labor hours

300
400


Machine-hours

100
200
Instructions

a. Determine the overhead rate that should be used for each department in applying overhead costs to job no. XL.

b. What is the total cost of job no. XL, and what is the unit cost of the product manufactured on this production order?

c. Prepare the journal entries required to record the sale (on account) of 1,000 units.  The total sales price was $22,000.

d. Assume that actual overhead costs for the year were $470,000 in Department A and $490,000 in Department B.  Actual machine-hours in Department A were $15,000, and actual direct labor hours in Department B were 25,000 during the year.  On the basis of this information, determine the over- or underapplied overhead in each department for the year.

Problem 17.5A

Process Costing

The Yellow Pine Furniture Company produces tables in two departments.  Assembly and Finishing.  In the Assembly Department, all direct materials (wood) are entered into production at the start of the process.  Various machines cut the raw wood into appropriate pieces and workers assemble the pieces into tables.  Thus, in the Assembly Department, all direct labor and overhead is incurred evenly throughout the process.  The Finishing Department then takes the tables, applies numerous coats of stain and varnish, and finally buffs and packages the completed tables.  Thus, in the Finishing Department, direct materials are added evenly throughout the first half of the process, while the direct labor is added evenly throughout the last half.  Overhead is incurred evenly over the entire finishing process.  Yellow Pine uses process costing and had the following cost and production information available for January, its first month of operation:


Assembly
Finishing


Department
Department

Direct materials cost

$32,000
$  8,200


Direct labor cost

12,000
16,000


Manufacturing overhead applied

  15,000
   8,400



Total manufacturing costs

$59,000
$32,600


Units in beginning work in process

0
0


Units started

800
600


Units completed and transferred out

600
450


Units in ending work in process

200
150


Percentage complete – ending work in process

30%
60%

During the month of January, 380 tables were sold and shipped to customers at a retail price of $400 each.

Instructions

a. For January, calculate the equivalent units produced by the Assembly Department and the Finishing Department for the three cost categories – direct materials, direct labor, and manufacturing overhead.

b. Calculate the assembly, finishing, and total cost of producing a table during January.

c. For the month of January, prepare the journal entries summarizing the manufacturing costs charged to the Assembly Department and the Finishing Department.

d. For January, prepare the month-end journal entries to transfer the costs of tables moved from the Assembly Department to the Finishing Department and from the Finishing Department to Finished Goods Inventory.

e. Prepare the entries to record the sales made in January and the corresponding reduction at Finished Goods Inventory.

f. Using T accounts, calculate the ending balances in the Work in Process accounts and Finished Goods Inventory.

Problem 17.6A

Process Costing

Quaker Co. makes oatmeal cookies.  The cookies pass through three production processes: mixing the cookie dough, baking, and packaging.  Quaker uses process costing.


The following are data concerning the costs incurred in each process during June along with the number of units processed:


Mixing
Baking
Packaging


Direct materials

$4,200
$       0
$2,000


Direct labor

2,500
2,000
4,000


Manufacturing overhead

7,500
6,000
1,000


Output

12,000 lb
3,000 gross*
36,000 boxes

*A gross is 12 dozen.

To ensure freshness, cookies are baked and packaged on the same day that the dough is mixed.  Thus the company has no inventory still in process at the end of a business day.

Instructions

a. Prepare a separate journal entry summarizing the costs incurred by the Mixing Department in preparing 12,000 pounds of cookie dough in June.  In the explanation of you entry, indicate the department’s unit cost.  (Round to nearest penny.)

b. Prepare the month-end entry recording the transfer of cookie dough to the Baking Department during May.

c. Prepare a journal entry summarizing the costs incurred by the Baking Department in May (excluding the costs transferred from the Mixing Department).  In the explanation, indicate the cost per gross of the baking process.  (Round to the nearest penny.)

d. Prepare the month-end entry recording the transfer of cookies from the Baking Department to the Packaging Department in May.

e. Prepare a journal entry summarizing the costs incurred by the Packaging Department in May.  In the explanation, indicate the packaging cost per box.  (Round to the nearest penny.)

f. Prepare the month-end entry to record the transfers in May of cases of cookies from the Packaging Department to the finished goods warehouse.  In the explanation, indicate the total cost per box transferred.  (Round to the nearest penny.)

g. Briefly explain how the management will use the unit cost information appearing in the entries a, c, e, and f.

Problem 17.7A

Applying Overhead Costs Using ABD

Kramden Chemical Company produce two products: Aoxide and Boxide.  The company uses activity-based costing (ABC) to allocate manufacturing overhead to these products.  The costs incurred by Kramden’s Purchasing Department average $100,000 per year and constitute a major portion of the company’s total manufacturing overhead.


Purchasing Department costs are assigned to two activity cost pools: (1) to order cost pool and (2) the inspection cost pool.  Costs are assigned to the pools based on the number of employees engaged in each activity.  Of the department’s five full-time employees, two are responsible for ordering raw materials, and three are responsible for inspecting incoming shipments of materials.


Costs assigned to the order pool are allocated to products based on the total number of purchase orders generated by each product line.  Costs assigned to the inspection pool are allocated to products based on the number of inspections related to each product line.


For the upcoming year, Kramden estimates the following activity levels:


Total
Aoxide
Boxide


Purchase orders generated

10,000
3,000
7,000


Inspections conducted

2,000
1,600
400


In a normal year, the company conducts 2,000 inspections to sample the quantity of raw materials.  The large number of Aoxide related inspections is due to quality problems experiences in the past.  The quality of Boxide materials has been consistently good.

Instructions

a. Assign the Purchasing Department’s costs to the individual cost pools.

b. Allocate the order cost pool to the individual product lines.

c. Allocate the inspection cost pool to the individual product lines.

d. Suggest how Kramden might reduce manufacturing costs incurred by the Purchasing Department.

Problem 17.8A

ABC Versus Use of a Single Activity Base

Mason Robotics manufactures three robot models: the A101, the B101, and the C101.  Maxon allocates manufacturing overhead to each model based on machine hours.  A large portion of the company’s manufacturing overhead costs is incurred by the Maintenance Department.  This year, the department anticipates that it will incur $80,000 in total costs.  The following estimates pertain to the upcoming year:



Estimated
Estimated Units


Model
Machine Hours
of Production


A101
30,000
6,000


B101
15,000
4,000


C101
5,000
2,000

Jane Aire, Mason’s cost accountant, suspects that unit costs are being distorted by using a single activity base to allocate Maintenance Department costs to products.  Thus she is considering the implementation of activity-based costing (ABC).


Under the proposed ABC method, the costs of the Maintenance Department would be allocated to the following activity cost pools using the number of work orders as an activity base: (1) the repairs pool and (2) the janitorial pool.  Of the 1,000 work orders filed with the Maintenance Department each year, approximately 200 relate to repair activities, and 800 relate to janitorial activities.


Machinery repairs correlate with the number of production runs of each robot model.  Thus the repairs pool would be allocated to robots based on each model’s corresponding number of production runs.  Janitorial services correlate with square feet of production space.  Thus the janitorial pool would be allocated to products based on the square feet of production space devoted to each robot model.  The following table provides a summary of annual production run activity and square footage requirements:



Estimated Number of
Estimated Square Feet of


Model
Production Runs
Production Space Used


A101
40
10,000


B101
110
15,000


C101
150
25,000

Instructions

a. Calculate the amount of Maintenance Department costs that would be allocated to each robot model (on a per-unit basis) using machine hours as an activity base.

b. Calculate the amount of Maintenance Department costs that would be allocated to each robot model (on a per-unit basis) using the proposed ABC method.

c. Are cost allocations distorted using machine hours as a single activity base?  Explain your answer.
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